Uy A E A7 5

5536 [1] BIEY2=7 AL — R A7 — P RS

BAAAIRER 9IE3545% V7=l — AW AT
KT 9IRF45 5y FTIADF—N— W EH
Lok B R OEHME HA
/NS T 500M (T O® )
SECERE 32Kk = dm Yt KSC 458184
M| @ 705 K 4 Fr )& R0OBE [REN RA ik
3|k |wVE FuA AA K FEARA 46.06 1 1 BRI
2| #k A% 2y IR INIETRA 47.63 1 2 i
2| & |[rep avx WHE =& PAAER N 48.98 2 3 SR
3| @ |#os mab pEM HLF OSSC 48.98 2 3 SR
1| B RAITF 4= KA R 0SSsc 49.06 1 5 I
3| AR |=vhy avry  [ERE BER HER A 49.09 3 6 SR
3| Bk |AhE hrn i JE TN 49.29 4 7 1 )
3| B | aurr [[ER i B 49.42 5 8 SR
4| B vy oY WS JwH BRI 2=7 49.62 1 9 BRI
3| T |V xR /N A 49.89 6 10
2| A |7y ¥avs Al 28K 0OSsC 49.92 3 11 BlEERID]
2| B A=y agay [RVE Hidl Lz 50.20 4 12 1
2|k |rerF 4% ilin OB RIS 50.22 5 13 1
L] &k My yor TG v B 50.44 2 14 I
1| & AV 40% AN #ah, IR 50.64 3 15 BRI
2| AR |FHE) < R IR JIHEA 50.90 6 16
2| #& |KVH7 shkn )1 B /)N 52.02 7 17
41 A [Hte7 7EA RV ERE W 52.05 2 18 BIEERID|
4 IR (W77 v s A= 52.55 3 19 BlEERID]
4| B [7A% <Y HA HEIR BHEZ AT 52.61 4 20
4| FH (AN angq RIS WAN TR 52.76 5 21
4| B [=vEh shb A R3p B S 52.93 6 22
3| V4 bER ARH B BIEZ AT 53.20 7| 23
4| ¥k [vx¥< <% Filr e b~ 54.58 7| 24
4| #E |7V v4Y AR K TAAA 55.05 8| 25
2009/1/13 BB T T FERT R SR SR P SEHRE AR — R

Official time by SEIKO




Uy A E A7 5

5536 [1] BIEY2=7 AL — R A7 — P RS

B4R 9FF3553 V7l — AN AT
KT 9IRF45 5y FTIADF—N— W EH
Lok B R OEHME HA
/NS T 500M (T O® )
SECERE 32Kk = dm Yt KSC 458184
M| @ 705 K 4 Fr )& R0OBE [REN RA ik
2| ¥ |Kvvam )% A BRI BHEZ AT 55.70 8 26
1| & 75 nAb wHE A Ha A=A 56.14 4 27
1| & |2Yv< vay AN S HERSEN 56.38 5 28
IR VEUEVMA Bl S JIHEA 59.17 6 29
1| 2 |¥¥7 490 K AR A 59.37 7 30
1| #k S~z gttt =Rl E FiRIA e
3| & Ty aAea EE K BRI 2=7 e

2009/1/13

Official time by SEIKO

G T oo FE BT RR] FERIR R [T HIRER S — )




